Activity - Twizzier Regression Name:

Directions:
« Measure The length of your Twizzler in centimeters and record under b=0.
« Toke abite measure, write under b=l
« Continue Taking bites and measuring until gone.
e (Grophyourdataon The scafTerploT provided Label your axes.
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| What Type of correlation exisTs within your data? Explain.

2. Use acdcuator To find The Line of BesT Fit.
3. Using \your equation.
d. What s the slope of yourine? __________
b. What does it represent in this situation?

c. Whatis the y-ntercept of yourine? __________
d. What does it represent in this situartion?

4. Use your Line of BesT Fit To predct The amount of Twizzier That woud be lef T affer 3bifes.

5. Use your Line of BesT Fit To predct the amount of Twizzier That woud be lef T after 30
pites. Does This mMake sense?

6. Predct how many bites have been Taken it /7 ch remain.

/. YOUr answers may be different £rom your peers. Why? Please explainin ot least 2
sentences.



